Hood Struts Lift Kit
2016-2021 TACOMA

RED nch
R >
<t

SKU: 1122219

(1) Contents:
Qty Part Name Size(mm) Qty Part Name Size(mm)
1 Hood Struts Lift Kit Kx2 | Flat Washer M8*20
Hx2 | Button Head Socket Cap Bolts Screws | M8*16 Lx10 | Flat Washer M6*20
[x10 | Button Head Socket Cap Bolts Screws | M6*14 Mx4 ' Flange Hex Lock Nuts M6
x4 Rivet Nut M6 Nx2 Hex Nuts M10
Driver Side Passenger Side
B .
H [ x2 1 | x10
Bi B2 F =
i

Passenger Side

c1 il

Driver S

ide

D1

K ) x2




(2) Tools required:

a. Drive Socket Ratchet Wrench;
b. 4mm Torx Bit Socket;

c. 17mm Shallow Socket;

d. Pneumatic Riveting Nut Gun

with 6mm Nut Chuck;

e. Drill & 9mm drill bit;

(3] Installation time:
About 40 minutes, 1-2 people may be needed. Installation time may

differ according to your mechanical skill level.

(PLEASE VERIFY ALL PARTS ARE PRESENT AND READ INSTRUCTIONS
CAREFULLY BEFORE STARTING INSTALLATION!)



(4] Installation instruction:
Step 1:

Before install the Hood Struts Lift Kit, Please distinguish these parts.

Driver Side Passenger Side

BT l BZI

Passenger Side  Driver Side

ct i D1l D

Passenger Side Installation
Step 2:
Assemble the Part "A" & Part “B2"with the Part “I", “L", “M". Install into the

vehicle with the Part "I", “L".




—

Rl

Step 3:
Use the Pneumatic Riveting Nut Gun with 6mm Nut Chuck to install the two

rivet nut. Install the Part “B2" into your vehicle. Assemble the Part "A" & the

I. r
'
-y
e

L B>

Part “B2"” with the Part “N”







Step 4:
Repeat the installation steps into the driver side.
Notes:
® Before install the Part "B1”, You need use a drill with 9mm drill bit to enlarge

this hole so that you can install the Rivet Nut.

® [nstall the Part "D1" into the driver side not only need to place the Part “O”

but also use the Part “"H" bolts.




Step 5:

The installation is complete.

Attention:

1.The product parts in this instruction may differ slightly from the
actual product contents hut generally does not affect the installation
of the product.

2 Please feel free to contact your distributor if you have any Kind
of question about your purchase.




